A bloody harvest


Thomas Nordström-Frank Tinschert 970413-970624


here is my Setup (I named each stack A, B, C, etc.):





O7L1:	A	? (+ 3 counters beneath)


R1:	B	?(3)


T4:	C	?(2)


U8:	D	?(2)


W1:	E	?(1)


W6:	F	?(1)


W9:	G	?(1)


X8:	H	?(2)


Sniper:	EE5





Trenches are still hidden and watch out for my Bore Sighted Location :).





here is the Polish Setup revealed:search for "Stack A", "Trenches" or "Bore Sighted"





Stack A:	457w\LMG, 237


Stack B:	8-1, 457 w\MMG both in Trench


Stack C:	457, 237


Stack D:	457 w\LMG


Stack E: 457 in Trench


Stack F:	457


Stack G:	8-0


Stack H:	457, 457





Trenches:		W1


		S1


		R1


		Q2


Bore Sighted by MMG:	AA6





German offboard setup:


Sniper: Q5


42B9:?(3)=>	4-6-8G, ?(2)=>	4-6-8G, 4-6-8W, 4-6-8CC


42B8: ?(4)=>	4-6-8E, ?(3)=>		8-0, 4-6-8E, 4-6-8R, 4-6-8X


42B7: ?(7)=>	2-4-8H,?(6)=>		8-1, LMG, 2-4-8H, LMG, 2-4-8B, LMG, 2-4-8C


42B3: ?(2)=>	4-6-8D, ?(1)=>		4-6-8D, 2-4-8J 


42B1: ?(5)=>	4-6-8H, ?(4)=>		9-2, MMG, 4-6-8H, 4-6-8M, 4-6-8P





------------------- German Turn 1 RPh -------------------


Weather DR[6,6]=12





------------------- German Turn 1 PFPh -------------------


No actions





------------------- German Turn 1 MPh -------------------


1.	42B9: (?(1)) DTs to


	43GG10		(1MF)


	43FF10		(2MF)


	43EE10		(3MF)


	43DD10		(4MF)


	43CC10		(5MF)


>	43X8 reveals 1x 457, forces moving units loss of concealment (468)


>	X8: (457) IFT first fires @ CC10


>		4FP @ -2 {FFMO,FFNAM}, DR[3,3]-2= 4, 1MC/cower (RndSel:355663)


>		468 1MC @  0, DR[3,3]+ 1=7, ne 


>		1ResFP


	43BB10		(6MF)


>	43X8 reveals another 1x457


>	X8: (457) IFT first fires @ BB10


>		4FP @ -2 {FFMO,FFNAM}, DR[5,3]-2= 6, NMC


>		468 NMC @  0, DR[2,4]+ 0=6, ne


>		2ResFP





Moves 2. and 3. cancelled due to ResFP in CC10





4.	42B8: (?(4)) DTs to


	43GG9		(1MF)


	43FF9		(2MF)


	43EE9		(4,5MF)


	43DD9		(6MF)


	43CC9		(7,5MF)


>	43W6 temporarely reveals 1x 457, forces loss of concealment (8-0, 3x468)


	


5.	42B3: (?(1(second revealed of stack))) DTs to


	43GG4 bypass 	(1MF)


	43FF3		(2MF)


	43EE4 		(3MF)


	43DD3		(4MF)


>	43W6 temporarely reveals 1x 457, forces loss of concealment (248)


	43CC4		(5MF)


	43BB4		(6MF)








6.	42B3: (?(1 (first revealed of stack))) DTs to


	43GG3		(1MF)


	43FF2 bypass 	(2MF)


	43EE3		(3MF)


>	43W6 temporarily reveals 1x 457, forces loss of concealment (468)


	43DD3 		(4MF)


	43CC3		(5,5MF)





1.	42B9: (4-6-8CC) DTs to


	43GG10		(1MF)


	43FF10		(2MF)


	43EE10		(3MF)


	43DD10		(4MF)


	43CC10		(5MF)





2.	: (1 ResFP) IFT fires @ CC10


	 1FP @ -2 {FFMO,FFNAM}, DR[6,1]-2= 5, PTC





		4-6-8CC PTC @  0, DR[2,3]+ 0=5, ne  /Polish '39 Sniper Check dr=4





	43BB9		(6MF)





3.	42B9: (4-6-8G) DTs to


	43GG10		(1MF)


	43FF10		(2MF)


	43EE10		(3MF)


	43DD10		(4MF)


	43CC10		(5MF)





4.	: (1 ResFP) IFT fires @ CC10


	 1FP @ -2 {FFMO,FFNAM}, DR[2,5]-2= 5, PTC





		4-6-8G PTC @  0, DR[4,6]+ 0=10, pinned 





5.	42B7: (8-1, LMG, 248, LMG, 248, LMG, 248) moves to


	42B8		(1MF)


	42B9		(2MF)


	43GG10		(3MF)


	43FF10		(4MF)


	43EE10		(5MF)


	43DD10		(6MF)





6.	42B1: (?(4-6-8P)) DTs to


	43GG2		(1MF)


	43FF1		(2MF)


	43EE2		(3MF)


	43DD1		(4MF)


	43CC1		(5MF)


	43BB0		(6MF)





If you put a ResFP in the previous path or any of the following, use the 'ResFP-free' path for the other.





7.	42B1: (?(4-6-8M) DTs to


	43GG1		(1MF)


	43FF0		(2MF)


	43EE1		(3MF)


	43DD0		(4MF)


	43CC1		(5MF)


	43BB0		(6MF)





8.	42B1: (?(9-2, MMG, 4-6-8H)) moves to


	43GG1		(1MF)


	43FF0		(2MF)


	43EE1		(3MF)


	43DD0		(4MF)


	43CC1		(5MF)


	43BB0		(6MF)


------------------- German Turn 1 AFPh -------------------


1.	BB9/10, CC10: (4-6-8*3 (1 PIN)) IFT fires @ X8


	 5FP @ + 2 {CX,AFPh,+1TEM}, DR[2,6]+ 2= 10, ne 





2.	DD10: (8-1, LMG, 2-4-8*3) IFT fires @ X8


	 4,5FP @  0 {AFPh,+1TEM,-1Ldr}, DR[5,3]+ 0= 8, ne 





3.	CC9: (8-0, 4-6-8*3) IFT fires @ W6


	 3FP @ + 4 {CX,AFPh,+3Hind}, DR[6,6]+ 4= 16, ne 





------------------- German Turn 1 RtPh -------------------


Nothing. Are you used to continue your moves when there is nothing significant that can occur? I'll do it now, let me know if you are used to any other way of playing.





------------------- German Turn 1 APh -------------------


4.	BB0: (9-2, MMG, 4-6-8, 2*4-6-8 CX) Adv to 	AA1		(2MF)





5.	CC3: (4-6-8 CX) Adv to 	BB2		(1,5MF)





6.	BB4: (2-4-8 CX) Adv to 	AA4		(1,5MF)





7.	BB9: (4-6-8 CX) Adv to 	AA9		(1MF)





8.	BB10: (4-6-8 CX) Adv to 	AA10		(1MF)





9.	CC9: (8-0, 4-6-8*3 all CX) Adv to 	BB8		(1,5MF)





10.	DD10: (8-1, LMG, 2-4-8*3) Adv to 	CC10		(1MF)





------------------- Polish '39 Turn 1 RPh -------------------


Wind Change DR=6,1 NE





PFPh:


X8: 1x457 fires at AA10	[Range 3, FP 4, DRM 0]	DR=1,2	2MC, Sniper


	Sniper dr=3	none


	cx468 takes 2MC	DR=1,5	pins





MPh:


X8: 	1x457 	AM  to W9	(2MF)





O7.1: 	?(3)	AM to 


O7.0 	(1MF)





------------------- Polish '39 Turn 1 DFPh -------------------


1.	AA1: (9-2, MMG, 4-6-8) IFT fires @ W1


	 4,5FP @ -2 {Area,-2Ldr}, DR[4,2]-2= 4, 2MC





Reveals: Stack E: 457 in Trench, attack=>NMC


		


		4-5-7 PTC @  0, DR[1,4]+ 0=5, ne 





2.	AA1: (2*4-6-8 CX) IFT fires @ W1


	 8FP @ + 3 {CX,+2TEM}, DR[6,1]+ 3= 10, ne 





3.	AA9/10: (2*4-6-8) IFT fires @ X8


	 6FP @ + 2 {CX,+1TEM}, DR[5,4]+ 2= 11, ne 





LOS AA9-X8 seems clear to me.





4.	BB8: (8-0, 3*4-6-8 CX) IFT fires @ W6


	 6FP @ + 3 {CX,Area,+2Hind}, DR[6,1]+ 3= 10, ne 





5.	CC10: (8-1, 3*LMG, 2-4-8) IFT fires @ X8


	9FP @  0 {+1TEM,-1Ldr}, DR[1,4]+ 0= 5, 2MC


	Polish '39 Sniper Attack 


	Sniper dr=1


	Random Direction=6 Distance=4


	Sniper Placed in AA3 /ROF. I guess you prefer breaking the 4-6-8 in BB2. Correct me if not.





		4-5-7 2MC @  0, DR[5,2]+ 2=9, bDM 





6.	CC10: (8-1, 3*LMG, 2-4-8) IFT fires @ X8


	 9FP @  0 {+1TEM,-1Ldr}, DR[5,1]+ 0= 6, 1MC





		4-5-7 1MC @  0, DR[1,3]+ 1=5, ne 





7.	CC10: (4-6-8 CX) IFT fires @ X8


	4FP @ + 2 {CX,+1TEM}, DR[2,2]+ 2= 6, PTC/cower (RndSel:536315)





8.	AA4: (2-4-8) IFT fires @ W6


	 2FP @ + 3 {CX,+2Hind}, DR[1,1]+ 3= 5, PTC/cower (RndSel:111663)





Reveal: Stack F:	457





		4-5-7 PTC @  0, DR[1,3]+ 0=4, ne 





Advancing Fire Phase:


W6:	457 fires at BB8	[5, 4/2, +2]	DR=4,4	cowers, NE


			[2x Grain]


W1:	457 fires at AA1	[4, 4/2, +1]	DR=5,4	NE


			[Woods]





------------------- Polish '39 Turn 1 RtPh -------------------


X8:	457 routs to W9





9.	41BB2: (4-6-8) routs to 	BB1





Aph:


W9:	457 to X8


W6:	457 to W7


T4:	?(2) to U4


O7:	?(3) to O7.1





------------------- German Turn 2 RPh -------------------


Weather DR[2,4]=6





1.	BB1: (4-6-8) @ + 4 {Terr,DM,Self}, DR[2,3]+ 4=9, ne, Remove DM





W9:	dm457	DR=1,6	[DRM=+4 -1]	NE, looses DM





------------------- German Turn 2 PFPh -------------------


2.	CC10: (8-1, 3*LMG, 2-4-8) IFT fires @ X8


	 9FP @  0 {+1TEM,-1Ldr}, DR[3,4]+ 0= 7, 1MC





		4-5-7 1MC @  0, DR[1,6]+ 1=8, bDM 





3.	AA1: (9-2, MMG, 3*4-6-8) IFT fires @ W1


	 17FP @ + 1 {CX,+2TEM,-2Ldr}, DR[5,6]+ 1= 12, ne 





------------------- German Turn 2 MPh -------------------


4.	AA4: (2-4-8 (lose CX)) moves to


	Z4		(1,5MF)


*** U4 ?(2), 1x457 drops ?, FF at Z4 	[5, 4, -1]	DR=2,5	NMC, 2 ResFP


***					DRM FFNAM


***			248 NMC DR=5,1	NE, lucky you :)


	Y4		(3MF)


*** sees Trench in R1


*** U4 457 SFF at Y4	[4, 4*0.5, -1]	DR=5,4 NE, 1ResFP


	X4		(4MF)


*** U4 ?(1), 1x237 drops ?, FF at X4	[3, 2, 0]	DR=3,1 1MC


			248 1MC DR=4,1	NE (OH NO, not again) :( 			SAN	Sniper dr=4 NE





5.	AA9: (4-6-8 (lose CX)) moves to


	Z8 bypass 	(1MF)


	Y9		(2MF)


	X9 		(4MF)


*** DMs bkn457 in W9





6.	AA10: (4-6-8 (lose CX)) moves to


	Z9		(1MF)


	Y10		(2MF)


	X9		(4MF)





7.	CC10: (4-6-8 (lose CX)) moves to


	BB10		(1MF)


	AA10		(2MF)


	Z10 bypass 	(3MF)


	Y10		(4MF)





1.	BB8: (4-6-8 (lose CX)) moves to


	AA9		(2MF)


	Z8 bypass Z8/9		(3MF)


	Y9		(4MF)








2.	BB8: (4-6-8 (lose CX)) moves to


	AA9		(2MF)


	Z9		(3MF)


	Y10		(4MF)








3.	BB8: (8-0, 4-6-8 (lose CX)) moves to


	BB9		(2MF)


	AA10		(3MF)


	Z10		(5MF)


	Y10		(6MF)





DFPh:


W1:	457 fires at AA1	[4, 4, +1]	DR=4,6	NE


			DRM Woods


W7:	457 fires at X4	[3, 4, +2]	DR=4,3	NE


			DRM 2xGrain


------------------- German Turn 2 AFPh -------------------


1.	X9,Y9/10: (8-0, 6*4-6-8) IFT fires @ X8


	 18FP @ + 1 {+1TEM}, DR[2,3]+ 1= 6, 3MC /Polish '39 Sniper Check dr=6





		4-5-7 3MC @  0, DR[4,6]+ 3=13, bDM (CR)(ELRed)=>2-2-7bDM





2.	X4: (2-4-8) IFT fires @ U4


	 1FP @ + 1 {AFPh,+1Hind}, DR[1,4]+ 1= 6, ne 


	Polish '39 Sniper Attack 


	Sniper dr=1


	Random Direction=4 Distance=2


	Sniper Placed in BB1


	4-6-8 =>CR=>2-4-8 bDM





------------------- German Turn 2 RtPh -------------------


W9:	bkndm457, ?(1)	rout via V9,U10 to T10 (5MF)


X8:	bkndm237 routs via W8, V8, V9 to U10 (6MF)





------------------- German Turn 2 APh -------------------


3.	X4: (2-4-8) Adv to 	W5		(1,5MF)





4.	X9: (2*4-6-8) Adv to 	W9		(2MF)





5.	Y9: (4-6-8) Adv to 	X8		(2MF)





6.	Y10: (8-0, 3*4-6-8) Adv to 	X10		(2MF)





7.	CC10: (8-1, 3*LMG, 2-4-8) Adv to 	BB9		(1MF)





------------------- German Turn 2 CCPh ------------------


X10, gains ?


BB9 ?dr:


8-1		dr=6	drm=1	NE


248w\LMG	dr=3	drm=2	gains ?


248w\LMG	dr=2	drm=2	gains ?


248w\LMG	dr=2	drm=2	gains ?





------------------- Polish '39 Turn 2 RPh -------------------


WindChange DR=4,4 NE





U10:	bkndm237 (Self-)Rally DR=4,3	DRM=+4 (dm, selfrally, woods)	NE, looses dm


T10:	bkndm457	Rally DR=1,3	DRM=+3 (dm, woods)		NE, looses dm





PFPh:


U4:	237 fires at W5	[2, 2, +1]	DR=5,3		NE


			DRM Grain


W1:	457 fires at AA1	[4, 4, +1]	DR=6,6		NE





MPh:


Time to go now:





Please continue my movement even if units break.





U4:	457 DTs, moves to


	T4	(1.5 MF)





1.	W5: (2-4-8) IFT fires @ T4


	 2FP @ + 1 {FFNAM,+2Hind}, DR[1,3]+ 1= 5, NMC





		4-5-7 NMC @  0, DR[4,6]+ 0=10, bDM





W7:	457 moves to


	V6	(1.5 MF)





2.	W5: (2-4-8) IFT fires @ V6


	 1FP @  0 {FFNAM,Final,+1Hind}, DR[2,3]+ 0= 5, PTC /Polish '39 Sniper Check dr=6





		4-5-7 PTC @  0, DR[1,4]+ 0=5, ne 





3.	W9/X8: (3*4-6-8) IFT fires @ V6


	 12FP @ + 1 {FFNAM,+2Hind}, DR[1,3]+ 1= 5, 2MC





		4-5-7 2MC @  0, DR[5,6]+ 2=13, bDM (ELRed)=>4-3-7





O7.1:	?(3) AMs to O8.1





R1:	?(3) AMs to Q2





------------------- Polish '39 Turn 2 DFPh -------------------


4.	AA1: (9-2, MMG, 3*4-6-8) IFT fires @ W1


	 17FP @  0 {+2TEM,-2Ldr}, DR[2,6]+ 0= 8, 2MC /ROF





		4-5-7 2MC @  0, DR[1,1]+ 2=4, ne  /HoB


	Heat of Battle DR[3,2]+(2DRM)=7,Battle Hardening





5.	AA1: (9-2, MMG, 4-6-8) IFT fires @ W1


	 5FP @  0 {+2TEM,-2Ldr}, DR[2,3]+ 0= 5, 1MC /ROF /Polish '39 Sniper Check dr=6





		4-5-8 1MC @  0, DR[2,1]+ 1=4, ne  /German Sniper Check dr=6





6.	AA1: (9-2, MMG, 4-6-8) IFT fires @ W1


	 5FP @  0 {+2TEM,-2Ldr}, DR[1,6]+ 0= 7, PTC /ROF





		4-5-8 PTC @  0, DR[1,4]+ 0=5, ne 





7.	AA1: (9-2, MMG, 4-6-8) IFT fires @ W1


	 5FP @  0 {+2TEM,-2Ldr}, DR[6,2]+ 0= 8, PTC





		4-5-8 PTC @  0, DR[5,6]+ 0=11, pinned


RtPh


=========


V6   bdm437 routs to (direction woods in P3)


	U6	(1.5MF)


	T5	(3MF)


	S5	(4.5MF)


	R4	(6MF)





T4   bdm457 routs to (direction woods in Q3)


	S4	(1.5MF)


	R3	(2.5MF)


	Q3	(4.5MF)





APh


=========


U4   237  to U5 (1.5MF)


U8   ?(2) to U9 (1.5MF)	


Q1   ?(3) to Q3 (3MF)





CCPh


=========


nothing





RPh


=========


R4   bdm437 looses dm


Q3   bdm457 Rally DR=3,2 [DRM +4, -1, -1] NE, looses dm


                         DRM DM, woods, Ldr


     Leader looses ? to W5


T10  bkn457 Rally DR=5,6 [DRM -1] NE


                         DRM woods


------------------- German Turn 3 RPh -------------------


Weather DR[2,3]=5


1.	BB1: (2-4-8) @  0 {Terr,Self}, DR[6,2]+ 0=8, ne





------------------- German Turn 3 PFPh -------------------


2.	AA1: (9-2, MMG, 3*4-6-8) IFT fires @ Q3


	 11FP @ + 2 {+1TEM,+3Hind,-2Ldr}, DR[5,6]+ 2= 13, ne 





------------------- German Turn 3 MPh -------------------


3.	W5: (2-4-8) AMs to 	V5		(1,5MF)





4.	W9: (4-6-8) AMs to 	V9		(1MF)





U9   457w\LMG drops ?, LMG DFF's (Firelane) at V9 [1, 4, -1] DR=5,1 1MC


                                                  DRM FFNAM


                468 takes 1MC DR=3,1 NE


                place 1FP Firelane up to W10





5.	W9: (4-6-8) AMs to 	V8		(1,5MF)





U9   457 DFF's at V8 [1, 8, 0] DR=1,2 K/2 (sorry)


                468 replaced by 248


                248 takes 2MC DR=3,5 bdm


                place 4 ResFP


1.	X10: (4-6-8) moves to


	W10		(2MF)





2.	: (FLResFP) IFT fires @ W10


	 1FP @  0 {FFNAM,+1TEM}, DR[5,5]+ 0= 10, ne 





	V10		(4MF)





3.	X10: (4-6-8) moves to


	W10		(2MF)





4.	: (FLResFP) IFT fires @ W10


	 1FP @  0 {FFNAM,+1TEM}, DR[6,6]+ 0= 12, ne 





	V10		(4MF)





5.	X10: (4-6-8) moves to


	W10		(2MF)





6.	: (FLResFP) IFT fires @ W10


	 1FP @  0 {FFNAM,+1TEM}, DR[6,3]+ 0= 9, ne 





	V10		(4MF)





7.	X8: (4-6-8) DTs to


	W8		(1,5MF)


	V7		(3MF)


	U7		(4,5MF)





U5   237 fires at U7 [2, 2, -1 +1] DR=2,3 NMC


                     DRM FFNAM, Grain


         468 takes NMC DR=4,1 NE, SAN


         SAN dr=4 NE





	T7		(6MF)





O8.1 457w\LMG drops ?, fires at T7 [5, 6, -1] DR=6,3 PTC


                                   DRM FFNAM


         468 takes PTC DR=1,5 NE


         leaves 2 ResFP





8.	BB9: (8-1, 3*LMG, 2-4-8) moves to


	AA10		(1MF)


	Z9		(2MF)


	Y10		(3MF)


	X9		(5MF)





DFPh:


U9   457 final fires at V9 [1, 4, 0]  DR=3,6 NE


U5   237 final fires at V5 [1, 2, 0]  DR=4,5 NE


W1   458 fires at AA1      [4, 4, +1] DR=6,1 PTC


                           DRM Woods


         9-2 takes PTC      DR=1,5 NE


         468w\MMG takes PTC DR=5,1 DRM=-2 NE


         468 takes PTC      DR=5,5 DRM=-2 NE


         468 takes PTC      DR=1,3 DRM=-2 NE





------------------- German Turn 3 AFPh -------------------


1.	V10:V9: (4-6-8, 4-6-8, 4-6-8 : 4-6-8) IFT fires @ U9


	 10FP @  0, DR[3,6]+ 0= 9, PTC





		4-5-7 PTC @  0, DR[2,4]+ 0=6, ne 





2.	V5: (2-4-8) IFT fires @ U5


	 2FP @  0 {PBF,AFPh}, DR[1,1]+ 0= 2, 1MC/cower (RndSel:123341)





		2-3-7 1MC @  0, DR[4,4]+ 1=9, bDM 





3.	T7: (cx4-6-8) IFT fires @ U9


	 2FP @ + 2 {CX,AFPh,+1Hind}, DR[1,6]+ 2= 9, ne 





------------------- German Turn 3 RtPh -------------------


4.	V8: (bkdm2-4-8) routs to 	W9		(2MF)


	W10		(4MF)


	X10		(6MF)





5.	U5: (bkdm2-3-7) routs to 	T4		(1,5MF)


	S4		(3MF)


	R3		(4MF)


	Q3		(6MF)





6.	U10: (bkdm2-3-7) routs to 	T10		(2MF)





------------------- German Turn 3 APh -------------------


7.	AA1: (9-2, MMG/4-6-8, 4-6-8, 4-6-8) Adv to 	Z0		(2MF)





8.	V5: (2-4-8) Adv to 	U6		(1,5MF)





9.	T7: (cx4-6-8) Adv to 	S8		(1,5MF)





10.	V9: (4-6-8) Adv to 	U9		(1,5MF)





11.	V10: (4-6-8, 4-6-8, 4-6-8) Adv to 	U10		(2MF)





12.	X9: (8-1, ?LMG/2-4-8, ?LMG/2-4-8, ?LMG/2-4-8) Adv to 	W9		(2MF)





------------------- German Turn 3 CCPh -------------------


13.	U9: (4-6-8) attacks (4-5-7) @ 4:4


		Odds of 1:1 @ + 0, DR[1,5]+ 0=6,ne





U9   457 attacks 468 at 4:4. Odds 1:1 DR=5,2 NE. ---> Melee





------------------- Polish '39 Turn 3 RPh -------------------


WindChange DR=5,1 NE





R4   bkn437 attempts SelfRally DR=6,6 DRM=+1 (selfrally)


             --> Fate, casualty reduced, becomes bkn227





T10  ?8-0, looses ?, supports rally of


     bdm457   Rally DR=5,2 DRM=+3 (dm, woods) NE


     bdm237   Rally DR=3,5 DRM=+3 (dm, woods) NE





Q3   bdm237   Rally DR=3,5 DRM=+2 (dm, woods, ldr) NE, looses dm


     bdm457   Rally DR=4,2 DRM=+2 (dm, woods, ldr) NE, looses dm





14.	X10: (bkdm2-4-8) @ + 3 {Terr,DM}, DR[4,3]+ 3=10, ne, Remove DM





PFPh:


================


O8.1 457 fires at S8 [4, 4, 0] DR=6,3 NE


     LMG fires at U6 [6, 2, 0] DR=3,5 NE





Q3   ?457w\MMG drops ?, 8-1 fire at S8 [6, 6, +4 -1] DR=4,5 NE


                                       DRM 4xGrain, Ldr





That's not too funny! Looks like some failure to rout in T10, eh?





MPh:


=================


W1   458 DTs to


     out of Trench   (1MF)





1.	Z0: (9-2, MMG/4-6-8, 4-6-8, 4-6-8) IFT fires @ W1


	 17FP @ -4 {FFMO,FFNAM,-2Ldr}, DR[2,4]-4= 2, 2KIA /ROF, 8 ResFP





T10  8-0 moves to


     S10             (1MF)





2.	S8: (cx4-6-8) IFT fires @ S10


	 4FP @  +1 {CX,FFNAM,+1Hind}, DR[5,5]+ 1= 11, ne /cower (RndSel:226511), 1 ResFP





     R10             (2MF)


     Q10             (3MF)


     P9              (4MF)


     O9              (5MF)





O8.1 ?(1) AMs to O7  (2MF)





------------------- Polish '39 Turn 3 DFPh -------------------


3.	Z0: (9-2,MMG/4-6-8) IFT fires @ Q3


	 5FP @ + 1 {+1TEM,+2Hind,-2Ldr}, DR[6,3]+ 1= 10, ne 





4.	W9: (8-1, LMG/2-4-8, LMG/2-4-8, LMG/2-4-8) IFT fires @ O8.1


	 9FP @ + 2 {+3TEM,-1Ldr}, DR[4,3]+ 2= 9, PTC





		4-5-7 PTC @  0, DR[2,6]+ 0=8, pinned 





5.	U10: (4-6-8, 4-6-8, 4-6-8) IFT fires @ O8.1


	 12FP @ + 3 {+3TEM}, DR[5,6]+ 3= 14, ne 





6.	U6: (2-4-8) IFT fires @ O8.1


	 1FP @ + 3 {Long,+3TEM}, DR[5,5]+ 3= 13, ne /cower (RndSel:342156)





RtPh:


==============


T10  both units eliminated for failure to rout (They have to decrease the range to the unit in S8)


Q3   both units LowCrawl to P3





APh:


==================


O9   8-0 adv to O8.0  (2MF)


Q3   8-1, 457w\MMG adv to P3 (2MF)





CCPh:


=================


U9   Melee 457w\LMG attacks 468 at 4:4


     Odds 1:1 DR=4,2 NE


1.	U9: (4-6-8) attacks (LMG/4-5-7) @ 4:4


		Odds of 1:1 @ + 0, DR[1,1]+ 0=2,KIA





	SW Destruction dr=2, LMG destroyed


	Leader Creation DR[3]+(-2DRM)=1,8-1 Leader Created





------------------- German Turn 4 RPh -------------------


Weather DR[1,1]=2


-	Wind dr=4


	No Change in Wind


	Direction: 0


	Wind Force: No Wind


(What's happend to the dice?)





2.	BB1: (bk2-4-8) @  0 {Terr,Self}, DR[2,2]+ 0=4, Rallied





3.	X10: (bk2-4-8) @ -1 {Terr}, DR[2,2]-1=3, Rallied





Q3   bdm237 attempts rally DR=4,6 NE


     bdm457 attempts rally DR=5,3 NE





------------------- German Turn 4 PFPh -------------------


4.	Z0: (9-2, MMG/4-6-8, 4-6-8, 4-6-8) IFT fires @ O7.1


	 11FP @ + 1 {+3TEM,-2Ldr}, DR[4,6]+ 1= 11, ne 





5.	W9: (8-1, LMG/2-4-8, LMG/2-4-8, LMG/2-4-8) IFT fires @ O8.1


	 9FP @ + 2 {+3TEM,-1Ldr}, DR[2,5]+ 2= 9, PTC





		4-5-7 PTC @  0, DR[4,6]+ 0=10, pinned 





------------------- German Turn 4 MPh -------------------


All of the following occurs if they have no ResFP or FL to run through.


6.	U6: (2-4-8) DTs to


	T6		(1,5MF)


	S7		(3MF)


	R7		(4,5MF)





P3   457w\MMG, 8-1 (MMG puts a 2FP firelane up to T10 along the


following path P4, Q5, ... T9, T10.) But first the attack against R7:


        [5, 8, -1 +3 -1] DR=2,6 PTC, MMG forfeits ROF for firelane.


        [DRM FFNAM, 3xGrain, Ldr]


        cx248 PTC DR=4,2 NE





	Q7		(6MF)





7.	S8: (cx4-6-8) moves to


	R8		(1,5MF)





O8.1  pin457w\LMG fires at R8 [3, 6 * 0.5, -1] DR=3,3 cowers, -> 1FP PTC


                               DRM FFNAM


          468 PTC DR=3,2 NE





	Q8		(3MF)





O8.0  ?(1), drops ?, reveals 237


      237, 8-0 fires at Q8 [2, 2, -1 +1] DR=2,5 NE


                            DRM FFNAM, Grain





1.	X10: (2-4-8) DTs to


bypass 	 W10:W11 to	V10	(3MF)


bypass 	 U10:U11 to 	T10	(5MF)





2.	: (2 FP FL) IFT fires @ T10


	 2FP @ + 1 {+1TEM,FFNAM }, DR[1,3]+ 0= 4, 1MC





		2-4-8 1MC @  0, DR[4,6]+ 0=10, bDM 





3.	X10: (?8-0) moves to


 bypass 	 W10: Offboard to	V10		(3MF)





4.	U10: (4-6-8) DTs to


	 T10		(2MF)





5.	: (2 FP FL) IFT fires @ T10


	 2FP @ + 1 {+1TEM,FFNAM }, DR[5,2]+ 0= 7, ne 





	S10		(3,5MF)


	R9		(5MF)





6.	U10: (4-6-8) DTs to


	T10		(2MF)





7.	: (2 FP FL) IFT fires @ T10


	 2FP @ + 1 {+1TEM,FFNAM}, DR[3,6]+ 0= 9, ne 





	S10		(3,5MF)


	R10		(4,5MF)


	Q10		(5,5MF)





1.	U10: (4-6-8) DTs to


	T10		(2MF)





2.	: (2 FP FL) IFT fires @ T10


	 2FP @  0 {FFNAM,+1TEM}, DR[6,1]+ 0= 7, ne 





	S10		(3,5MF)


	R10		(4,5MF)


	Q10		(5,5MF)








3.	U9: (8-1, 4-6-8) moves to


	T9		(1,5MF)





4.	: (2 FP FL) IFT fires @ T9


	 2FP @ -1 {FFNAM}, DR[5,6]-1= 10, ne 





	S9		(3MF)


	R8		(4,5MF)


	Q9		(6MF)





Just a second, the 8-0,237 in O8.0 will SFF at Q9 first.


          [2, 1, -1 +1] DR=4,5 NE








------------------- German Turn 4 AFPh -------------------


5.	Q7-10+R9: (The lot!) IFT fires @ O8.1


	 11FP @ + 4 {CX,+3TEM}, DR[3,4]+ 4= 11, ne 





------------------- German Turn 4 RtPh -------------------


6.	T10: (bkdm2-4-8) routs to 	U10		(2MF)


	V10		(4MF)





------------------- German Turn 4 APh -------------------


7.	Z0: (9-2, MMG/4-6-8, 4-6-8, 4-6-8) Adv to 	Y1		(1MF)





8.	W3: (cx2-4-8) Adv to 	V2		(1MF)





9.	W9: (8-1, LMG/2-4-8, LMG/2-4-8, LMG/2-4-8) Adv to 	V9		(1MF)





10.	Q7: (cx2-4-8) Adv to 	P7		(1,5MF) claim WA (?)





11.	Q8: (4-6-8) Adv to 	P7		(1,5MF) claim WA (?)





12.	Q9: (8-1, 4-6-8) Adv to 	P8		(1,5MF) claim WA (?)





No WA for any of your units. My 248 takes it, thereby forfeiting the


building TEM. However, the 8-0 stays in the building.








13.	R9: (cx4-6-8) Adv to 	Q9		(1,5MF)





14.	Q10: (cx4-6-8, cx4-6-8) Adv to 	P9		(1MF)





------------------- Polish '39 Turn 4 RPh -------------------


Wind Change DR=1,6 NE





R4   bkn227 SelfRally DR=5,6 NE


P3   bdm457 Rally DR=6,6 Fate, CR'd to bdm237, looses dm


P3   bdm237 Rally DR=3,1 DRM [-1 Ldr, -1 Woods, +4 dm] NE, looses dm





15.	V10: (bk2-4-8) @ + 3 {Terr,DM}, DR[6,6]+ 3=15, ne, Remove DM fate, elim





PFPh4b:


=======================


O8.1 457w\LMG fires it's inherent FP at P8 [1, 4 * 2] DR=6,6 NE, so much for the luck





O8.1 457w\LMG fires the LMG at P7 [1, 2 * 2] DR=3,5 NE





O8.0 237 fires at P8 [1, 2 * 2, 0] DR=3,2 1MC (Wow, finally a result)


                     8-1 takes 1MC DR=2,1 NE


                     468 takes 1MC DR=5,1 NE





A tough decision whether to move or fire. ... Ok, let's fire them, too.





P3   457w\MMG, 8-1 fire at P7 [4, 8, +2 -1] DR=6,5 NE, at least NO MMG malf.





------------------- Polish '39 Turn 4 DFPh -------------------


1.	V9: (8-1, LMG/2-4-8, LMG/2-4-8, LMG/2-4-8) IFT fires @ O8.1


	 9FP @ + 2 {+3TEM,-1Ldr}, DR[6,5]+ 2= 13, ne 





2.	Y1: (9-2, MMG/4-6-8, 4-6-8, 4-6-8) IFT fires @ O8.1


	 11FP @ + 1 {+3TEM,-2Ldr}, DR[1,1]+ 1= 3, K/3 /ROF





	Checking LOS here, and the V2 Orchard seems to be in the way. But then the LOS would be blocked because of in season Orchard, right? Check and see if I can get this nice little result.





3.	Y1: (9-2,MMG/4-6-8) IFT fires @ P3


	 5FP @ + 1 {+1TEM,+2Hind,-2Ldr}, DR[5,3]+ 1= 9, ne 





	Q3 blocks this one, crap.





4.	P7-9+Q9: (All except the HS) IFT fires @ O8.1


	 30FP @ + 4 {CX,+3TEM}, DR[2,4]+ 4= 10, 2MC





		4-5-7 2MC @  0, DR[6,5]+ 2=13, bDM (ELRed)=>bkdm4-3-7





5.	V2: (cx2-4-8) IFT fires @ P3


	 1FP @ + 2 {CX,Long,+1TEM}, DR[1,1]+ 2= 4, ne /cower (RndSel:352323)





	I think this is blocked too. Or? But still, damn, damn...





6.	P7: (cx2-4-8) IFT fires @ P3


	 2FP @ + 4 {CX,+1TEM,+2Hind}, DR[2,4]+ 4= 10, ne 2*2-3-7 goes DM finally





APh:


================


O8.0  8-0 adv to O8.1 (Let's hope for a REAL GOOD Rally DR)


O8.0  237 drops WA, back into the house--> WA for your adjacent guys.





------------------- German Turn 5 RPh -------------------


Weather DR[4,6]=10





O8.1  bdm437 rally attempt


C'mon dice ... (shakin', shakin') ... DR=2,2 Striiiiike! ... Oops, he


was ELR'd before so the Base Morale is 6, NE, looses dm





... (all hope is gone now) ...





P3   bdm237 Rally DR=4,1 NE, looses dm


P3   bdm237 Rally DR=2,3 NE, looses dm





------------------- German Turn 5 PFPh -------------------


1.	P8: (8-1, 4-6-8) IFT fires @ O8.0


	 8FP @ + 2 {PBF,+3TEM,-1Ldr}, DR[4,3]+ 2= 9, PTC





		2-3-7 PTC @  0, DR[5,2]+ 0=7, ne 





------------------- German Turn 5 MPh -------------------


2.	V2: (cx2-4-8) moves to (lose CX)


	U2		(1MF)


	T2		(2MF)


	S2		(3MF)


	R2		(4MF)





3.	Y1: (9-2, MMG/4-6-8, 4-6-8, 4-6-8) moves to


	X1		(1MF)


	W1		(2MF)


	V1		(3MF)


	U2		(4MF)


	T1		(5MF)


	S2		(6MF)





4.	P7: (cx2-4-8) AMs to (lose CX)	O7		(3MF)





O8.0  237 DFF at O7.0 [1, 2 * 2, +3] DR=1,5 NE, 2 ResFP


                      DRM StoneBuild





6.	Q9: (cx4-6-8) AMs to (lose CX)	P8		(1,5MF)





7.	P9: (cx4-6-8) AMs to (lose CX)	O9		(1MF)





O8.0 237 SFFires at O9 [1, 2, -1 -1] DR=6,6 NE, 1 ResFP


                       DRM FFNAM, FFMO





8.	P9: (cx4-6-8) AMs to (lose CX)	P8		(1MF)





9.	V9: (8-1, LMG/2-4-8, LMG/2-4-8, LMG/2-4-8) moves to


 bypass 	 U10:U9 		(1MF)


 bypass 	 T10:T9 to 	 S10		(3,5MF)


	R10		(4,5MF)


	Q10		(5,5MF)








10.	V10: (?8-0) DTs to


 bypass 	 U10:offboard 		(1MF)


 bypass 	 T10:T9 to 	 S10		(3,5MF)


	R10		(4,5MF)


	Q10		(5,5MF)


	P9		(6,5MF)





DFPh:


=======================


P3  457w\MMG, 8-1 fires at P8 [5, 8, +3 -1] DR=4,3 PTC             DRM 3*Grain, Ldr


    8-1 takes PTC DR=3,3 NE


    468 takes PTC DR=4,6 DRM -1Ldr, pinned


    468 takes PTC DR=4,2 NE


    468 takes PTC DR=1,3 NE





------------------- German Turn 5 AFPh -------------------


1.	S2: (9-2, MMG/4-6-8, 4-6-8, 4-6-8) IFT fires @ O8.1


	 3FP @ + 1 {+3TEM,-2Ldr}, DR[2,4]+ 1= 7, PTC /ROF





		8-0 PTC @  0, DR[4,6]+ 0=10, pinned 





3.	O7-P7/8-O9: (The lot) IFT fires @ O8.0


	 20FP @ + 3 {+3TEM}, DR[1,5]+ 3= 9, 1MC





		2-3-7 1MC @  0, DR[6,3]+ 1=10, bDM (CR)


Why does ASLAP say CR? Am I too tired or is ASLAP joking?





4.	Q10: (8-1, LMG/2-4-8, LMG/2-4-8, LMG/2-4-8) IFT fires @ O8.1


	 4FP @ + 2 {AFPh,+3TEM,-1Ldr}, DR[3,2]+ 2= 7, PTC


	Polish '39 Sniper Attack 


	Sniper dr=1


	Random Direction=1 Distance=6


	Sniper Placed in S2


	Random Selection:


	9-2		5


	4-6-8		2


	4-6-8		4


	4-6-8		4





		MMG/4-6-8 NMC @  0, DR[4,1]+ 0=5, ne  /Polish '39 Sniper Check dr=6


		4-6-8 NMC @  0, DR[2,3]+ 0=5, ne  /Polish '39 Sniper Check dr=5


		4-6-8 NMC @  0, DR[3,2]+ 0=5, ne 


	Polish '39 Sniper Attack 


	Sniper dr=2


	Random Direction=2 Distance=4


	Sniper Placed in S2


	Random Selection:


	MMG/4-6-8		4


	4-6-8		2


	4-6-8		6





------------------- German Turn 5 RtPh -------------------


Now I'm not quite sure. I think your HS surrenders, right? In that case to 2-4-8 in O7.





------------------- German Turn 5 APh -------------------


5.	R2: (2-4-8) Adv to 	Q3		(2MF)





6.	S2: (MMG/4-6-8, 4-6-8, 4-6-8) Adv to 	S3		(1MF)





7.	O7: (2-4-8, ((1)-0-6?)) Adv to 	N6		(1MF)





8.	P7: (4-6-8) Adv to 	O7		(2MF)





9.	P8: (8-1,4-6-8,4-6-8) Adv to 	O8		(2MF)





10.	O9: (4-6-8) Adv to 	O8		(2MF)





11.	P9: (cx8-0) Adv to 	O9		(1MF)





12.	Q10: (8-1, LMG/2-4-8, LMG/2-4-8, LMG/2-4-8) Adv to 	P9		(1MF)





RPh 5b:


==============


WindChange DR=3,4 NE





R4   bkn227 attempts SelfRally DR=4,1 NE


P3   bdm 237 Rally DR=6,2 NE, retains dm


P3   bdm 237 Rally DR=4,6 NE, retains dm





and now ...





O8.1 bdm437w\LMG Rally DR=1,1 DRM[-1Ldr, -1Building] !!!!!!!! What


should I say?


     HOB DR=4,3 DRM[+1broken, +2AlliedMinor] Berserk


O8.1 bdm227 Rally DR=4,3 NE, retains dm





PFPh5b:


===============


P3   457w\MMG fires at O7.0 [4, 8, -1 +3] DR=6,4 NE





MPh5b:


===============


O8.1 bzk437w/LMG moves to O8.0 (1MF)





1.	O8.0: (8-1, 4-6-8, 4-6-8, 4-6-8) IFT fires @ O8.0


	 36FP @ + 2 {+3TEM,-1Ldr}, DR[5,1]+ 2= 8, 4MC





		4-3-7 4MC @  0, DR[6,6]+ 4=16, bDM (ELRed) (CR) elim


What can I say! Kind'a spoils the fun.





------------------- Polish '39 Turn 5 DFPh -------------------


I guess you let the 8-0 stay put.





2.	P8:P9: (4-6-8 : 8-1, LMG/2-4-8, LMG/2-4-8, LMG/2-4-8) IFT fires @ O8.1


	 17FP @ + 3 {+3TEM}, DR[6,5]+ 3= 14, ne 





3.	O7:N6: (4-6-8 : 2-4-8) IFT fires @ P3


	 6FP @ + 1 {+1TEM}, DR[2,5]+ 1= 8, PTC





		8-1 PTC @  0, DR[6,6]+ 0=12, pinned 


		4-5-7 PTC @  0, DR[1,6]+ 0=7, ne 





4.	Q3: (2-4-8) IFT fires @ P3


	 4FP @ + 1 {PBF,+1TEM}, DR[2,5]+ 1= 8, ne 





5.	S2:S3: (4-6-8 : MMG/4-6-8, 4-6-8) IFT fires @ R4


	 17FP @  0, DR[4,1]+ 0= 5, 3MC /Polish '39 Sniper Check dr=6





		2-2-7 3MC @  0, DR[6,2]+ 3=11, bDM (CR)(ELRed) elim





RtPh:


================


O8.1 bdm237 surrenders to 468 in O8.0. Will they automatically deploy?





BTW, the 8-0 is (upper level) encircled.





P3   2*bdm237 LowCrawl to O3 (2MF)





------------------- German Turn 6 RPh -------------------


Weather DR[3,5]=8





Recombine 2*2-4-8=>4-6-8 in P9





1.	O8.0:	4-6-8 attempts to recover LMG Polish, dr=5+0=5, recovered





O3   both bdm237 loose dm





------------------- German Turn 6 PFPh -------------------


2.	S3: (4-6-8) IFT fires @ P3


	 4FP @ + 1 {+1TEM}, DR[4,2]+ 1= 7, PTC


		LOS is blocked, just wanted to check





3.	Q3: (2-4-8) IFT fires @ P3


	 4FP @ + 1 {PBF,+1TEM}, DR[2,2]+ 1= 5, NMC/cower (RndSel:315225)





		8-1 NMC @  0, DR[1,5]+ 0=6, ne 


		4-5-7 NMC @  0, DR[1,2]+ 0=3, ne 


	German Sniper Attack 


	Sniper dr=2


	Random Direction=6 Distance=1


	Sniper Placed in P3


	Random Selection:


	8-1		2 wounded


	4-5-7		1





Designate O8.0s units as OppFirer (except 2-4-8s)





S3 MMG/4-6-8 Entrenchment DR[4,1]=5 successful





------------------- German Turn 6 MPh -------------------


4.	N6: (2-4-8) AMs to 	M7		(1MF)





5.	O7: (4-6-8) AMs to 	N7		(1MF)





6.	O8: ((1)-0-6/2-4-8) AMs to 	N8		(1MF)





7.	O8: (2-4-8) AMs to 	N7		(1MF)





8.	P8: (4-6-8) AMs to 	O8		(2MF)





9.	P9: (8-1, LMG/LMG/4-6-8, LMG/2-4-8) moves to


	O9		(1MF)


	N8		(2MF)


	N7		(3MF)





10.	O9: (cx8-0) moves to (loose CX)


	N8		(1MF)


	M8		(3MF)


	M7		(5MF)





11.	S2: (4-6-8) AMs to 	S3		(1MF)





DFPh6a:


================


P3   457w\MMG,wnd8-1 fires at Q3 [1, 8 * 2, +1] DR=2,1 K/3, German SAN, ROF


          Sniper dr=2, Random Direction DR=5,5, Sniper from P3 to K6, Hits at O3


          Random Selection 1,3 --> dm's one 237





------------------- German Turn 6 AFPh -------------------


12.	O8.0:N7: (The lot) IFT fires @ O8.1


	 36FP @ + 2 {+3TEM,-1Ldr}, DR[5,2]+ 2= 9, 3MC





		8-0 3MC @  0, DR[6,4]+ 3=13, bDM (ELRed)=>bkdm 7-0





------------------- German Turn 6 RtPh -------------------


O8.1 bkdm 7-0 surrenders to 468 in O8.0.


O3   bdm237 routs to P3 (2MF)





------------------- German Turn 6 APh -------------------


13.	N7: (8-1, LMG/LMG/4-6-8, LMG/2-4-8, 4-6-8, 2-4-8) Adv to 	N6		(1MF)





14.	O8: (8-1, 4-6-8, 4-6-8) Adv to 	O7		(2MF)





15.	N8: ((1)-0-6/2-4-8) Adv to 	O8		(2MF)





------------------- German Turn 6 CCPh -------------------


M7, O8.0 gains ?


S3 MMG/4-6-8 ? gain dr=4+3-2=5 ok


S3 4-6-8 ? gain dr=6+3 ne


S3 4-6-8 ? gain dr=1+3=4 ok





------------------- Polish '39 Turn 6 RPh -------------------


WindChange DR=1,5 NE





P3   bdm Rally DR=2,6 NE, looses dm





N6 Recombine/transfer SW into: 8-1, LMG/4-6-8, LMG/4-6-8, LMG/4-6-8


O8.0 ?(4-6-8) transfer 7-0 prisoner to ?((1)-0-6/2-4-8)





------------------- Polish '39 Turn 6 MPh -------------------


P3   457 drops MMG, DTs to 


     O4 (2MF)


     N4 (4MF)





1.	N6:O7: (8-1, LMG/4-6-8, LMG/4-6-8, LMG/4-6-8 : 8-1, 2-6/4-6-8, 4-6-8) IFT fires @ N4


	 31FP @ -2 {FFNAM,-1Ldr}, DR[5,3]-2= 6, K/4





		2-3-7 4MC @  0, DR[6,3]+ 4=13, bDM (ELRed)





2.	S3: (?MMG/4-6-8, ?4-6-8, 4-6-8) IFT fires @ N4


	 17FP @ -1 {FFNAM}, DR[4,4]-1= 7, 1MC/cower (RndSel:264211)





		2-2-7 1MC @  0, DR[2,4]+ 1=7, bDM (CR)





